1.5 angle pairs.notebook September 10, 2019

9/10/19 - Warm Up Problem

t ¢s-apether name for Plane S?
|m\<?g 7
2 What are two different names
for the line that contain

me N \(\Q

3. What is the intersection of lines
m and n? ‘] > U\

4. Name one acute angle m Plane S.

Lty
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Concept 3 - Angle Pairs

Goals: draw conclusions about angles from a diagram
use special angle pair relationships to find angle measures

L e
If a diagram has no marks or measures D
included on it, some information can be 2
concluded from the diagram and some
i
cannot. A B C

Finding Information from a Diagram
There are some relationships you can conclude such as:

- Angles are adjacent
- Angles are a linear pair (add to 180) >\ i

- Angles are vertical angles (so they're congruent)

There are some relationships you CANNOT conclude:
- Angles or segments are congruent

- An angle is a right angle

- Angles are complementary
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Can you conclude each statement from the diagram?
Explain.

/1l=/2

__ conaruen
Nes— © mcc:}xc\AS

/3=/5

_ A\Co\
Nes - Ned) N

/.1 and /2 are complementary
No- Do toroILicS AWeN
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Do these two problems in your notes.
Find the value of x and the measure of each angle.
Are the angles congruent or should you add them up?

m/1l = 4x, "‘Cb_‘} 5\5‘ m/17 =2x + 7,
ms 12 =2x—6 —O m/18=x+30 . S3°
®) 23430 -

1./ D (17 18 ) S
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Assignment:

Concept 3 Worksheet
(back)

- due by Friday 9/13

On, o
4 L)
FINDING ANGLE MEASURES L o O
Find the measure of each angle using the diagram to the right. o ! P - \
[-) o
18. ZEBF G| 19. ZEBA RO ‘5\0
£

20. /DBE \—(o 21. ZDBC \01° {

IE, y S A
22, ZABF 23. ZDBF A B c

Find the measure of each angle using the second diagram to the right.

24, £ZBGC 25. ZAGF
26. ZFGD 27. ZCGE A =
28. ZCGF 29. ZAGC

Use the given measures to write and solve an equation to find the measure of each numbered angle.

30. ms1=x+10 31. m£2 = 4x — 26,
mi2 =3x + 18 ms3=3x+4

2
1N\2 3

32, ms4=2x—-5 33. mi6="Tx— 24
msh =4x — 13 ms7=5x+ 14

4 5
3l/s 5




	Page 1: Sep 1-8:27 AM
	Page 2: Sep 1-8:31 AM
	Page 3: Sep 5-2:19 PM
	Page 4: Sep 4-12:27 PM
	Page 5: Sep 1-8:41 AM

